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BINARIO 7 - ALTIMETRIA

Pr 0+000.000

Qp 36.953

Pe

Pu 0.01004

Delta p

Rv

t

f

Pr_i

Pr_f

Pr 0+114.685

Qp 38.105

Pe 0.01004

Pu 0.01504

Delta p 0.00500

Rv 5000.000

t 12.505

f 0.000

Pr_i 0+102.181

Pr_f 0+127.189

Pr 0+208.632

Qp 39.518

Pe 0.01504

Pu 0.00834

Delta p -0.00671

Rv 3000.000

t 10.060

f 0.000

Pr_i 0+198.574

Pr_f 0+218.692

Pr 0+341.634

Qp 40.627

Pe 0.00834

Pu 0.00396

Delta p -0.00437

Rv 4700.000

t 10.277

f 0.000

Pr_i 0+331.357

Pr_f 0+351.911

Pr 0+422.041

Qp 40.945

Pe 0.00396

Pu -0.02468

Delta p -0.02865

Rv 2050.000

t 29.360

f 0.000

Pr_i 0+392.681

Pr_f 0+451.392

Pr 0+675.842

Qp 34.681

Pe -0.02468

Pu 0.00502

Delta p 0.02970

Rv 2050.000

t 30.440

f 0.000

Pr_i 0+645.411

Pr_f 0+706.282

Pr 0+778.951

Qp 35.198

Pe 0.00502

Pu 0.01999

Delta p 0.01498

Rv 2000.000

t 14.973

f 0.000

Pr_i 0+763.978

Pr_f 0+793.921

Pr 1+072.930

Qp 41.075

Pe 0.01999

Pu 0.00800

Delta p -0.01199

Rv 3000.000

t 17.983

f 0.000

Pr_i 1+054.950

Pr_f 1+090.913

Pr 1+153.025

Qp 41.716

Pe 0.00800

Pu -0.00076

Delta p -0.00876

Rv 2300.000

t 10.077

f 0.000

Pr_i 1+142.948

Pr_f 1+163.102

Pr 1+315.665

Qp 41.592

Pe -0.00076

Pu -0.00698

Delta p -0.00622

Rv 5000.000

t 15.538

f 0.000

Pr_i 1+300.127

Pr_f 1+331.202

Pr 1+475.000

Qp 40.480

Pe -0.00698

Pu -0.00925

Delta p -0.00228

Rv 10000.000

t 11.380

f 0.000

Pr_i 1+463.620

Pr_f 1+486.379

Pr 1+575.369

Qp 39.551

Pe -0.00925

Pu -0.00672

Delta p 0.00253

Rv 10000.000

t 12.659

f 0.000

Pr_i 1+562.710

Pr_f 1+588.028

Pr 1+675.000

Qp 38.882

Pe -0.00672

Pu -0.00078

Delta p 0.00594

Rv 5000.000

t 14.853

f 0.000

Pr_i 1+660.148

Pr_f 1+689.853

Pr 1+720.474

Qp 38.846

Pe -0.00078

Pu

Delta p

Rv

t

f

Pr_i

Pr_f

V_ALT0 V_ALT1 V_ALT2 V_ALT3 V_ALT4 V_ALT5 V_ALT6 V_ALT7 V_ALT8 V_ALT9 V_ALT10 V_ALT11 V_ALT12 V_ALT13

V0

2314852.394

4640342.395

V1

2314830.396

4640160.076

Sv  25.000

AngF  1.4301g

m  0.047

V 1

R  556.450

Ac  14.4187g

Tan  63.286

Sv  126.030

Fr  3.564

Co  125.760

H  50

V  60

V 1

Sv  20.000

AngF1  1.5224g

AngF2  4.6703g

V 1

R  317.700

Ac  13.4317g

Tan  33.640

Sv  67.030

Fr  1.766

Co  66.906

H  80

V  60

V 1

Sv  40.000

AngF  4.0077g

m  0.210

V 1

V2

2315007.854

4639794.820

Sv  40.000

AngF  4.2441g

m  0.222

V 2

R  300.000

Ac  69.3514g

Tan  181.745

Sv  326.811

Fr  43.413

Co  310.889

H  90

V  60

V 2

Sv  40.000

AngF  4.2441g

m  0.222

V 2

V3

2314626.786

4639402.181

Sv  15.000

AngF  0.4756g

m  0.009

V 3

R  1004.000

Ac  6.2772g

Tan  49.538

Sv  98.996

Fr  1.220

Co  98.956

H  30

V  60

V 3

Sv  15.000

AngF  0.4756g

m  0.009

V 3

V4

2314433.457

4639243.653

Sv  20.000

AngF  0.7958g

m  0.021

V 4

R  800.000

Ac  4.5808g

Tan  28.794

Sv  57.564

Fr  0.518

Co  57.551

H  30

V  60

V 4

Sv  20.000

AngF  0.7958g

m  0.021

V 4

V5

2314202.343

4639088.957

Sv  20.000

AngF  0.8488g

m  0.022

V 5

R  750.000

Ac  6.3501g

Tan  37.436

Sv  74.810

Fr  0.933

Co  74.779

H  40

V  60

V 5

Sv  20.000

AngF1  3.3953g

AngF2  1.9099g

V 5

R  1000.000

Ac  3.7910g

Tan  29.783

Sv  59.548

Fr  0.443

Co  59.540

H  30

V  60

V 5

Sv  20.000

AngF1  0.4925g

AngF2  2.5887g

V 5

R  436.180

Ac  13.5970g

Tan  46.758

Sv  93.160

Fr  2.485

Co  92.983

H  60

V  60

V 5

V6

2314082.294

4639071.134

BINARIO 7 - PLANIMETRIA
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Binario 6

BINARIO 6 - ALTIMETRIA

V_ALT0 V_ALT1 V_ALT2 V_ALT3 V_ALT4 V_ALT5 V_ALT6 V_ALT7 V_ALT8 V_ALT9 V_ALT10 V_ALT11

Pr 0+000.000

Qp 36.953

Pe

Pu 0.01000

Delta p

Rv

t

f

Pr_i

Pr_f

Pr 0+115.165

Qp 38.105

Pe 0.01000

Pu 0.01493

Delta p 0.00493

Rv 5000.000

t 12.328

f 0.000

Pr_i 0+102.838

Pr_f 0+127.492

Pr 0+209.823

Qp 39.518

Pe 0.01493

Pu 0.00828

Delta p -0.00666

Rv 3050.000

t 10.149

f 0.000

Pr_i 0+199.675

Pr_f 0+219.972

Pr 0+343.673

Qp 40.626

Pe 0.00828

Pu 0.00400

Delta p -0.00428

Rv 4700.000

t 10.047

f 0.000

Pr_i 0+333.626

Pr_f 0+353.720

Pr 0+423.541

Qp 40.945

Pe 0.00400

Pu -0.02500

Delta p -0.02900

Rv 2000.000

t 28.997

f 0.000

Pr_i 0+394.544

Pr_f 0+452.528

Pr 0+674.030

Qp 34.683

Pe -0.02500

Pu 0.00503

Delta p 0.03003

Rv 2000.000

t 30.027

f 0.000

Pr_i 0+644.013

Pr_f 0+704.057

Pr 0+776.380

Qp 35.198

Pe 0.00503

Pu 0.02001

Delta p 0.01498

Rv 2000.000

t 14.975

f 0.000

Pr_i 0+761.406

Pr_f 0+791.352

Pr 1+070.144

Qp 41.075

Pe 0.02001

Pu 0.00802

Delta p -0.01198

Rv 3000.000

t 17.970

f 0.000

Pr_i 1+052.177

Pr_f 1+088.114

Pr 1+150.000

Qp 41.716

Pe 0.00802

Pu -0.00076

Delta p -0.00879

Rv 3000.000

t 13.181

f 0.000

Pr_i 1+136.819

Pr_f 1+163.181

Pr 1+312.500

Qp 41.592

Pe -0.00076

Pu -0.00699

Delta p -0.00623

Rv 5000.000

t 15.572

f 0.000

Pr_i 1+296.928

Pr_f 1+328.072

Pr 1+450.000

Qp 40.630

Pe -0.00699

Pu -0.00898

Delta p -0.00199

Rv 10000.000

t 9.963

f 0.000

Pr_i 1+440.037

Pr_f 1+459.962

Pr 1+575.381

Qp 39.504

Pe -0.00898

Pu

Delta p

Rv

t

f

Pr_i

Pr_f

BINARIO 6 - PLANIMETRIA

V0

2314848.865

4640342.821

V1

2314826.723

4640159.307

Sv  25.000

AngF  1.4210g

m  0.047

V 1

R  560.000

Ac  14.3524g

Tan  63.394

Sv  126.250

Fr  3.554

Co  125.983

H  50

V  60

V 1

Sv  20.000

AngF1  1.5307g

AngF2  4.6486g

V 1

R  321.340

Ac  13.5597g

Tan  34.352

Sv  68.444

Fr  1.821

Co  68.315

H  80

V  60

V 1

Sv  40.230

AngF  3.9851g

m  0.210

V 1

V2

2315003.297

4639795.869

Sv  40.000

AngF  4.3015g

m  0.225

V 2

R  296.000

Ac  69.2367g

Tan  178.957

Sv  321.920

Fr  42.696

Co  306.288

H  90

V  60

V 2

Sv  40.000

AngF  4.3015g

m  0.225

V 2

V3

2314624.430

4639405.497

Sv  15.000

AngF  0.4775g

m  0.009

V 3

R  1000.000

Ac  6.2165g

Tan  48.863

Sv  97.649

Fr  1.192

Co  97.610

H  30

V  60

V 3

Sv  15.000

AngF  0.4775g

m  0.009

V 3

V4

2314432.479

4639247.812

Sv  20.000

AngF  0.7998g

m  0.021

V 4

R  796.000

Ac  4.6296g

Tan  28.956

Sv  57.887

Fr  0.526

Co  57.874

H  30

V  60

V 4

Sv  20.000

AngF  0.7998g

m  0.021

V 4

V5

2314314.293

4639168.705

Sv  20.000

AngF  0.9030g

m  0.024

V 5

R  705.000

Ac  7.6164g

Tan  42.223

Sv  84.345

Fr  1.261

Co  84.294

H  40

V  60

V 5

Sv  20.000

AngF  0.9030g

m  0.024

V 5

V6

2314212.551

4639120.576

INFRASTRUTTURA

Tracciati ferroviari

Planimetria di tracciamento: Binario 6 e Binario 7 (FL1)

1:2000

1 3 P 6 I F 0 0 0 8 0 0 4 A

L.Rossetti

V. Conforti

Apr-2021

NR2E.0.0.R.13.P6.IF.00.0.8.004.A

 

 

 

 

A

 

Emissione Esecutiva

 

 

 

 

Apr-2021 Apr-2021 Apr-2021
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